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Question Number : 1 Question Id : 7512365601 Question Type: MCQ Option Shuf%: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A)

Classification 1s grouping into cate@( based on observed characters
and the categories are referred as

Reason (R) : Taxa are unbiased and indi ﬂﬁ\e of categories at different levels in
classification. Q/
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The correct answer is:

HOTS SSPEESB:

Options:

Both (A) and (R) are true. (R) is the correct explanation of (A).
, (A)B00050 (R) e Bodr $830852. (A)go (R) 98508 D58=e.

Both (A) and (R) are true but (R) s not the correct explanation of (A).

| (A) 50008 (R) o0 Boda 50082, 50 (A) (R) 8003 256w 576



(A) 1s true but (R) 1s false.

(A) 506058, 57 (R) B00586 5060,

=3

(A) 1s false but (R) 1s true.

(A) %8058 T, 52 (R) $05058.
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Question Number : 2 Question Id : 7512365602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists :
List-1

A)  Asexual

B) Karyogamy

C) Meiosis

D) Plasmogamy

& §od JPBod 2dErdod.
o838 -1
wbs -1

A) ©8ons

A

B) Sog¥ dodriio
C) Eohiédm Dasud
D) Z3%mge dodrio

The correct match 1s:
éﬂ@aé 2368

Options:

D)

¥

List-11

Fusion of protoplasms between two motile or
non-motile gametes

Repmductimlés oospores, ascospores and

basidiospores
Repmducti@ spore called conidia.

ZOOSPOIES. [sporangiospores
Fusi two nuclei
Zb esulting in haploid spores

Q
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Question Number : 3 Question Id : 7512365603 Question Type: MCQ Option lidg : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Q

Match the following lists :

List -1 A\ List-TI
7)

A)  Gaspard Bauhin Crystallization of the enzyme urease
B)  Sexual reproduction in plants CA]) Robert Hooke

C) J.B.Sumner @ ) Camerarius

D) Micrographia Q/v IV

Introduced binomial nomenclature

& Bob J8Bod %ééﬁdﬂfg\
238 -1 238 -11
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A) TXE e D oSrddod JoBSod a’:ﬁééamﬁm
B) 30080 Sohf w&E ) o=f Sv8
C) 28 3596 ) 5350080

V)

D) JoEraoss B Tddad HITuLadod

The correct match 1s:
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Question Number : 4 Question Id : 7512365604 Question Type: MCQ Option Wg: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) :

Reason (R) :

s (A):

%m0 (R):

Gametophyte is represented by féw Celled or many celled stage called
diplo-haplontic life cycle.
Pteridophytes and all seed b@g plants follow diplo-haplontic life cycle

pattern. @

BB Desdo %’ﬁﬁ“w $eamw0 §ON0BM ol ¢k JERBE LIS
B0 e DnPhod.
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The correct answer 1s:

DBGS g

Options:

Both (A) and (R) are true. (R) 1s the correct explanation of (A).
(A) 508050 (R) o Sodr 305082, (R) 036 (A)s 205808 Dbk,
1

Both (A) and (R) are true, but (R) s not the correct explanation of (A).
, (A) S8 (R) @0 Bodr 583805, 570 (R) 9386 (A)ge H050S dhde s,



(A) 1s true but (R) 1s false.
- (A) 385058, 570 (R) %6888 6.

(A) 1s false but (R) 1s true.
, (A) 205088 6, 52 (R) $6G058.

Question Number : 5 Question Id : 7512365605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The pigment chlorophyll 'C' 1s present in
I  Diciyota

.  Ulothrix

M. Porphyra

IV.  Sargassum
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The correct combination is&
D0030& Sewowns:

Options:

I II
1.

LIV
2

5 1L I

L IOLIV

Question Number : 6 Question Id : 7512365606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : Tap roots of sweet potato become swollen to perform functions other
than absorption and conduction of water,

Reason (R):  Roots in some plants are modified for storage of food.

g (A): DRGNS SO3KH Gi), Fho Do B SEHTI sHor ES
Qoo A0,
sdwo (R): §Q) Iwnod’ I eFfddogod Joj@chdo 568 driroddo

DORIE ).

The correct answer 1s;

HOGS SEPTHE0:

Options:
Both (A) and (R) are true, (R) 1s the correct E:xplam@ of (A).
(A) 506050 (R) en Bodr S0, (A% (R@%ﬁa D58e0.
1 &
Both (A) and (R) are true but (R) 1s not rrect explanation of (A).
(A) S080sw (R) oo Bodr 20808 (A)5e (R) 508308 i 5.

z.

(A) 1s true but (R) 1s false. Q/
N (A) 2850588, 520 (R) m}& ¢,

(A) 1s false but (R) 1s true.
) (A) 88058 525, 2 (R) $833086.

Question Number : 7 Question Id : 7512365607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the features given in List - I with the groups present in List - II.

A)
B)
O
D)

Pulvinus
Cladophylls
Cyathium

Head inflorescence
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The correct match is:

LBGS aé:
Options:
A B C
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A B €
II I\Y I

List-1I
Legumes
Euphorbiaceae
Asparagus
Tridax
Cucumber
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Question Number : 8 Question Id : 7512365608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Stamens of a flower may be united with other parts such as petals or among themselves.
Identify the correct statements from the following:

The stamens are united mto one bunch as in Pea

The stamens are attached to the petals. epipetalous as in brinjal
The stamens are united into more than two bundles as in china rose
Stamens are attached to the perianth in lily

< B FF
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The correct answer 1s: @

D8G0D wTe0:
Options: @
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Question Number : 9 Question Id : 7512365609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : In Algae, haplontic life cycle is the dominant phase.
Reason (R): Inmany algae zygote divides by meiosis immediately after karyogamy to
form haploid spores.

gy (A): IS’ Dé?g@é LI&TEo PaoIld &4
w0 R): o 350r0d” BoE doBridn =00s I3 WYeE dghzred
AEYETIE Hoosog Deodt Eoh¥;m JFed wdrhEod.

The correct answer 1s:
DOGE HBorgrisdo:

Options:

Both (A) and (R) are true. (R) 1s the correct explanation of (A).
1 (A) S08050 (R) eo Boder $6gda. (A)se (R) m& D58k,

V

Both (A) and (R) are true. but (R) 1s not ﬂl@,(@‘rect explanation of (A).
, (A)B08c50 (R) @0 ok H0G3:53. Té) 5o (R) 568308 D58 5°8.

(A) 1s true but (R) 1s false. @

, @) soguss, 2 ®) aa@é@
(A) 1s false but (R) 1s tru &

) (A) 583058 578, 72 (R) 9853056,

Question Number : 10 Question Id : 7512365610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Pre - fertilization events include which of the following?
I  Gametogenesis

II. Zygotic embryogenesis

. Gamete transfer

IV. Homogametic union

V. Heterogametic union

& 1§ob ST DI HebEdm fﬁéﬁgéo?’mm:‘ém‘?
L Sodride 2880

II. Socsngde Hodaddo

I Rodridare Savwr

IV. 350%0d@rd dere So&oriboo

o)
V. 28 dodri Dere HoBrHS® (19\'
The correct combination 1s: é
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Question Number : 11 Question Id : 7512365611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following :
List-1 List-1I

A)  Entomophily I)  Squirrels
B)  Chiropterophily II) Snakes
C) Therophily ) Insects
D) Ophiophily IV) Humming bird
V) Bats
& 06 TAD 285,08,
De38 -1 De3E - 11
A) Svseo HTE Hodd)sw D &dden
B) 85200 M) rdgeao

C) 3590 ) %Exu
D) 25&@5d ) b
%

The correct match 1s: @

Options:
@A ® (© &2(9
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Question Number : 12 Question Id : 7512365612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The floral formula for the below potato floral diagram is

& 1§08 YIS VOMT oD YRBIIL PHAyDosso.
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Question Number : 13 Question Id : 7512365613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Indicate the correct floral formula from the following. which 1s characteristic representative
of the Pisum sativim

& (808 TS Ve STJ2 %o Dogrorr BOGLRAD DOS @&Jﬁcjg@ﬁ@ drdodod.

Options:



Br.Ebrl. @, ¢ K 5,C(5)-A (5 Gy

Br,Bil%, § K5y, Cuuzsin) Aoy Or

Ebr. Ebrl. %. Qz ,K{E}.ff' -Ag+_1- .Gy)

(5)

Question Number : 14 Question Id : 7512365614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A typical nucleosome “bead” is made up of cb
Dogm SrEErFS TS 88 éoﬁys;@@;oaq/Q\'
Options:

8 histone molecules and 146 base pairs 0@%\
8 S wmnHeo Jo8asn DNA o‘:‘m%\(b&ﬁ 576 meéewn

8 histone molecules and 200 h%gi}s of DNA
8 e @)oo $odasw %ﬁ G0, 200 576 wgen

4 histone molecules and 146 base pairs of DNA
- 4 orPPe wodor Hbodn DNA @ng), 146 58 2den
4 histone molecules and 200 base pairs of DNA
4 5P weaodoo 08050 DNA Bwg), 200 578 a2gen

4

Question Number : 15 Question Id : 7512365615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following structures with their correct names :
& Bod Joysron DO WIS wadsrdod.
List-1/5&8¢8 -1 List-I1/5¢3% -1I

A) NH,-CH-CH,-CH,-CH,-COOH I) Fattyacid
2~ >

COOH £y e
B) CH,-OH II) Sermne
|
T‘H—OH 068
CH,-OH
C) CH,—(CH,);.-Co0H I]]B&lyceml
Q HdT S

D) NH,-CH-CH,-OH ()@ IV) Glutamic acid

| @
COOH Kotr§ esso

&% V) Alanine

LTSI

The correct match is:
ﬁﬂ@ﬁﬁﬁﬁ

Options:

@a ® O O

.,V o m I

@ ® ©O© O
> Vv m I I
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Question Number : 16 Question Id : 7512365616 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The chromosomes align at the equator and the microtubules from opposite poles of the
spindle get attached to the kinetochores of sister chromatids are in

E'3rPoer JdgRom @b, 508 IWBEEL HITe IYo Hod drEodien FEY
F3r8E IITETEoH 0HE)D F0EST Gotron. O

Options: N
Metaphase - 1 (\9

So85p 64 - 1
Telophase -1 @

| ©odg &¥ -1 Q/v
Metaphase - IT &%

ﬁa&ﬂg“ﬁ i | |

Telophase - 11

wodg ¥ - II

Question Number : 17 Question Id : 7512365617 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : Spermatophytes contain a type of primary Xylem which is exarch in stems.

Reason (R):  Protoxylem lies towards periphery and metaxylem lies towards the centre.
Such arrangement of primary xylem is called exarch.

gy (A): ﬁgéé&ﬁ*?ﬂwéﬁm 2.8 S80S |r@0E TP 8A wolrron. ©d 5Potod”
Ty RESTdsonT Gotnod.

820 (R): LENTE0Y IBOIYB, wodmrdy SHOIPE rotrrow. [FEIE
THYHS & S5 @ddEn iy WHNT 80 wotrd.

The correct answer 1s
D8GS ddrgrddn

Options:

Both (A) and (R) are true, (R) is the correct expla @. of (A).
(A) $08050 (R) & Bodr S6@052. (A)% (Pr@_;_m D550,

Both (A) and (R) are true but (R) 1s not ¢ rrect explanation of (A).
(A) S08050 (R) 0 Bodor H8G3085. (A)% (R) 565308 258 .

2
(A) 1s true but (R) 1s false. J

(A) 5653058, 53 (R) @ajéga
=

(A) 1s false but (R) 1s true.
(A) 508058 58, 3 (R) 308086.

Question Number : 18 Question Id : 7512365618 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Vascular cambium produces:
95 Jerag Eardd A8 GEG Dlyod:
Options:
Primary xylem and primary phloem

DEE T, |PEE FRE Semreo
1.



Primary xylem and secondary phloem

o PG o), BrBdkh FNE Sereo

Secondary xylem and secondary phloem

885 T, &5950‘50 FPAE Seereo

Secondary xylem and primary phloem

. &5@053 T80, |08 FPAE Berwo

Question Number : 19 Question Id : 7512365619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

One of the following statements is not true with reference to a successive seral stages.

& B0l TAS 28 Tgpy wED0S A8Y @&goﬁﬁ\) Lowofo) JHOFIE T

Options: N
There 1s a change in the diversity of species ofﬂ@ijsms.
B Hareoe Eﬁcﬁgmﬁﬁ ;’J:Pd:);] 000, &

1. @
There is a decrease in the total bioma C)
23 BS5073ST Sifade wumu%

2 Q/
The number of species aty{@msms increased.
o, 2RO Jopg W& oh.

There 1s an mcrease in the total biomass.

SEDgorIS” whibde wolnod.

Question Number : 20 Question Id : 7512365620 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : Soil is a major factor for establishment of a biotic community with diverse
organisms and it takes several hundred to thousand years to produce fertile
soil on bare rock.

Reason (R):  Lichens secrete acids to dissolve rock for soil formation.

gy (A): AVFBFo LYol BOAS £I0J0mal FHSH SnBE 28 DSopgId
5°¢80, H0akw 0r8lw ol FISodEId ;’J:nagé Déﬁjé&é&é& Q) Sodo
Dod Jo doddore JHooko HEsod.

g0 (R): 008 80A0D H0)8ES SSr&HBoerds 88 slrd) @aTow.

The correct answer 1s:

$8G0F SErETSS:

Options: g

Both (A) and (R) are true, (R) 1s the correct expl@n of (A).
| (A) @005 (R) e Do $0E8D, (A)éo/&%@:é D58,

Both (A) and (R) are true but (R) 1s 110t€19%11‘e{:t explanation of (A).
X (A) 500050 (R) &0 Bodsr $0333352 (A% (R) 356808 D580 5.

(A) 1s true but (R) 1s false. Q/
?&: sr 0.

| (A)3850588, 59 (R) 988

(A) 1s false but (R) 1s true.
, (A) 38056 58, 52 (R) 63058,

Question Number : 21 Question Id : 7512365621 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following lists :
List-1 List-1I

A) Guttation I)  Abscisic acid

B) Imbibition

C) Dessication

D) Suberin

Root endodermis
Diffusion

Shoot epidermis
V) Root pressure

S BE

& Bob JPBod =8srdyol.

248 -1 58% -1
A)  Dodyrdo D ofos elo
B) 930 ) SesHo s
C) 2gdLoowS iy @!B‘a

X%@é e gid) 0
@ 38 Hesso
@,

The correct match 1s: @
DOSS 2é: Q}

D) &8s

Options:

A B C /9\%
. I VvV N I

A B & D
> V I I I

=
w
— O

A B C D
4 1 I Vv I\

Question Number : 22 Question Id : 7512365622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following :

A) Manganese
B) Magnesium
C)  Sulphur

D) Molybdenum

& (B0l TR uBErG)0s.

5858 -1
A)  SroKdS
B) Sofjhch
C) )8

D) SrOQsS

The correct match 1s:

QOGS wds:
Options:
Aa ® (©
, I 1\ Vv
Aa @ ©

o 1 I I

A @ ©
| G i

A @ (©

I N V

4.

D)

N

D)
v

D)
E_T

(D)
I

szEs*"

szg8°

List-11

Kinase reaction and turgidity of cells

Water splitting in oxygenic photosynthesis
Nitrate reductase

Chlorophyll

Disulphide bonds to stabilize the protein structure

238 - 11
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Question Number : 23 Question Id : 7512365623 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following lists :

List-1 List - 11
A)  Oxido reductases I)  Fructose — 1. 6 —biphosphate + H,O
/ dehydrogenases | Fructose —1.6-biphosphatase ?
Fructose — 6 — phosphate + inorganic phosphate
B) Transferases II) Argino succinic acid __ Arginosuccinase
Arginine + Fumaric acid.
C) Hydrolases II) Glutamic acid +NH, +ATP __ Glutamine synthetase
Glutamine + ADP+ip
D) Lyases IV) Malate + NAD™ __Malate dehydrogenase ;
Oxalo acetate + NADH + H”

V) Glucose + ATP _ Hexokinase

Fad

Glucose — 6 — phosphate + ADP.

& 180d H8Bod 285r8)08. \9
Q

A) ©5& o8iSw I &Q{rﬂgo' S5 1o pogE
[ & @edfen + @ RoBD FRE
B) (5588w m _ eQINYIE
nJ%O
0) T ESEe m) esdoo + NH, + ATP__ Ger®sto6ds
{2205 + ADP+ip
D) edhSe IV) 3086 +NAD® _ 5788 8pEess |

e’ @BES + NADH+H”
V) frS6+ATP __TEE3E | fre'6 -6 27%yS + ADP

The correct match 1s: / DO g

Options:
A B C D
, I I vV I
A B D
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Question Number : 24 Question Id : 7512365624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Oxygen evolving complex which is responsible for oxygen evolution during photosynthetic
light reactions 1s physically associated with

§8eadgdo@rd 57 08Udss” esfuaso Idde LS e58y23 mg:né D080 Sas® DY
0023000 880 Gotwod. q

Options: N

1. PSITI @/&%
2. C)

'Cy+b/ﬁ/f $

PQ poo Q/
o Ppoc] &(g

Question Number : 25 Question Id : 7512365625 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arrange the following in the order of their occurrence in the Hatch and Slack pathway.
Decarboxylation of C, acid into a C5 acid in the bundle sheath cells.
Transportation of C; acid into mesophyll cells.

Fixation of atmospheric CO, into a C,4 acid in the mesophyll cell.
Transportation of C, acid into bundle sheath cells.

Regeneration of phosphoenolpyruvate in the mesophyll cells.

<2 g RBR"

Eji.

W H080%0 FF Hrfod” wd) & (ol T8 JSHJE0S” wdod.
Doz T Swros®, Cyudo Gof) &5°o§Bas oo C;udiom Srd.
(3850 J@odd Eerod'AE Sama.

FTE6080 CO,, J@rodd Srod Cyedoom Fos.

= BEFR T

Ci8d00 J@rods S0’ AE I

V. JEodd Emrod’ o",)“i’i‘;)amef PROIE HISL& @!\9

The correct sequence s : (1/

SBGN HBDJES é
RBS Sdd B0
O

Options:
MLILIVLV @

N OLIV.LILV %Q/
A

. OLLIV.VII

. LV ILILIV

Question Number : 26 Question Id : 7512365626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arrange the following in the order of their occurrence with regard to glycolysis.
L Phosphoenolpyruvate

I. 2 - Phosphoglycerate

IT. 1.3 - bisphosphoglyceric acid

IV. 3 - Phosphoglyceric acid

V. Pyruvicacid

A57ORR80 Jo000n i) & |Bod TEJ SOJE0S” vdodobk.
L  oRNSssH Er3eS

. 2. i}‘fﬁﬁgﬁﬁﬁﬁ

m 1.3- i)ﬁ?@‘gﬁe&&g @é.‘%:;o

V. 3- TN N208 200
V.

O)
2D8rDE w0 \/
PErE e q/Q

The correct sequence s : é
SOGE SEHED: O
Options: @

, LILLV,IV ((/?*
, MLIVILLV &(0

. VIILILIV

, IVILILLV

Question Number : 27 Question Id : 7512365627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the dehydration and oxidation reactions among the following :
I  Oxaloacetic acid + Acetyl CoA — Citric acid + Coenzyme A

II.  Fumaric acid + H,O — Malic acid

M. Citric acid — Cis-aconitic acid

IV.  Isocitric acid + NAD™ — oxalosuccinic acid + NADH

V. Malic acid + NAD™ — Oxaloacetic acid + NADH

QPOET0 SoBw ©8)E8mo Sigoiy & Bod F8S* HBowod.

I  us5d o sio + 9388 CoA — I wio + ITI0B0 A
I 9gods sdo + H)O — 588 esio

I D8 soo — 99-08ABE vdo

IV. 228§ edo + NAD" - u57e°58§)08 esidoo ADH

V. &5rdF el +NAD' - us)S'ed &8 @@(QRADH

The correct combination 1s : é

K&E}@osﬁ St

Options: @
mLIv.v Q/?"

1.

, LILOLIV /\%

. OO IV.V

ILIOL V.1
4.

Question Number : 28 Question Id : 7512365628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following plant hormones given in the List - [ with their main corresponding
physiological effects. presented in the List - II.

List-1 List-1I
A)  Auxm I) Celldivision
B) Gibberellins II) Fruitripening
C) Ethylene IT) Bolting in cabbage
D) Abscisic acid IV) Apical dominance
V) Seed dormancy

HEE-1 &* 208 Dok o B9850, HEE-IL &° &) S0 6868 Bosr)E Berros

Soopg Dowodo EOAS & udErdod.

58 -1 588 - 10
NI D Seodeas
B) eﬁe&g’é@ﬁm ) $eo ;N%%é
0 2885 F%&&S‘Qoﬁ

D) e@)R§ =0

The correct match 1s: @
PORS w8 Q/v
Options: %
@ ® © @5

I vV @I I

@a ® © O

, IV I I A%

@a ® © O

- T I\Y V I

@A ® © O

L, NV vV m I

Question Number : 29 Question Id : 7512365629 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Examples of photoautotrophic bacteria which capture light energy and transform it into
chemical energy to obtain carbon from atmospheric carbon dioxide are

I Anabaena

I.  Nitrosomonas
. Chilorebium
IV. Xanthomonas

5Po8¥EQ (o) Sradd ¥ 38y TrErddeod R S RREFHE Dol SRl Fold
508 drodho Fad a?ﬁ%&di?aé} € T S0 0.

E e5DS

I JE&&cras
Il §6Dohado
V. arogdroo

The correct combination is :

20300 Ewos ! &
Options: O@

1: I,‘]]I (</$

z
. IL I &%
o ILIV

Question Number : 30 Question Id : 7512365630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In the Bacteriophage the arrangement of its parts (Top to bottom) are as follows :
I  Head containing DNA
II.  Sheath

1. Collar
IV.  Tail fibres
V. Baseplate

TEORrTES® ermen (28 $ood Bodd) Sddom BN,
DNAEOAS S

& oo

sod

SEF T en

B eso Q\c/b
V

< 2 B R F

The correct sequence is :

2
250G SEBED0 : &J

Options:

. LIVILLV 45?
> ILLIV.V.IO /éb

. LILIVILV

, LILILV,IV

Question Number : 31 Question Id : 7512365631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

To determine the genotype of a tall plant at F, generation. Mendel crossed the tall plant
from F; with a dwarf plant. Mendel called this phenomenon as :

F 5088 Sdsits Fnt), edogtrsssss dErbostrds, Bods Fi sk 3ng,d S8ang,&
Hof8mo 20, Joods & éﬂéﬂ&:‘ﬁé} Ro” I !

Options:



Heterozygous
DABoas0iezo

Homozygous
800550113220

Test cross

585 Hoddmo

Question Number : 32 Question Id : 7512365632 Question Type: MCQ Option fflivig : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a cross between homozygous recessive and a he Yeous dominant, the phenotypic
and genotypic ratios respectively are &

&

DR BOBIS S8 @-m:nmﬁég%g#m 5055 HoEEEGR0S® BYFgErD HoBN

23088 AqyPen S&Jm

Options: @v
I:1land1:1 %
A

1 : LBt 1zl

J:1land1:1
FidEEn 11

all are dominant phenotype and all are dominant heterozygous genotypes

@@l e.:-ii}'ﬂg?é cﬁg}%gdr#m ISlelovhe @é‘h e&ﬁrgé @a’::};oﬁwﬁéea eamgdrﬁ*m

all are recessive phenotypes and all are recessive genotypes

o) woddd Sfgdraren 0 BJ) Woddd Blogirdren



Question Number : 33 Question Id : 7512365633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following groups present at every nucleotide in RNA?

RNA &°0 08 Srg8rSth&’ & Bod T8S° o dSnrairey &otrown?
Options:

2' —OH and 3' — OH groups in ribose

8ei'nes’ 2' — OH H080i0 3' — OH ddwarairen

3'—OH group in ribose
850’ 3' — OH Jddworaio

a

Uracil group

O
2 QST PDdnTrdio (\/Q\'

—CH; group é
— CH; $ 3085050 @()

Question Number : 34 Question Id : 7512365634 Quéstion, Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientati \rtical

Assertion (A) : DNA 1‘ep]jcatim®0ntiuuous on leading strand while on the lagging strand
it 1S djscoutm@l. .

Reason (R):  Thisis because, DNA polymerase cannot initialize polymerisation without
a primer.

4.

g (A): DNA 5888 938 @origed P3G el 50 28 398088 FIS°
iﬁﬂtgc\’ﬂo.
80 (R): 28 Jodgod, DNA FO5r-3E Hodédmo CEL’JJE SHoT Inndedd

5°208.
[-%]

The correct answer 1s:
é&@o N Jdrordta:

Options:



Both (A) and (R) are true. (R) is the correct explanation of (A).
1 (A) 0005w (R) eo Bodor H050:82. (A)s (R)H050&8 JS8en.

Both (A) and (R) are true but (R) 1s not the correct explanation of (A).

, (A) %0050 (R) e Bodr 565052, 33 (A (R) 56608 56 5.

(A) 1s true but (R) 1s false.
, (A)30g038, 570 (R) 905058 7.

(A) 1s false but (R) 1s true.
, (A) 205056 556, 33 (R) 208056,

Question Number : 35 Question Id : 7512365635 Question Type: MCQ Option @ : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
In a translation experiment, two different IURNAS‘X@ different nucleotide sequences.
mRNA 1-5' AUGULHJUUAULHJUUAUAAU}({ G-3'and
mMRNA2-5-AUG UUCUUG UUA UUU UA(@)‘U UUACUU-3

are used. Which of the following statemenfis fiue.

OB HAFH0S®, Boks I3 6@%@@ 5S0EH00 &b Dok I MRNA o
FETE0. O

mRNA ]-S'AUGUUUUUA‘éEHJ UUAUAAUUCUUG-3',

mRNA2-5-AUG UUC UUG UUA UUUUAGUUU UUA CUU -3

& 1808 TrgpgoS’ I8 H08GDs.

Options:
Both mRNAs code for polypeptides having same molecular weight.

Soto MRNA e 2.8 @mgrdo $o UK doserod drdowrow.
1
mRNA1 codes for high molecular weight polypeptide than mRNA2.

mRNAL. mRNA2 03 S8 % @eagrdo Ko #@E}%i&hé& dosgo 708,
2,



mMRNA2 codes for high molecular weight polypeptide than mRNAL.
mMRNA2. mRNAI $08 280 & woerdo o #@E%é&é«: Dosgo RXNOH.
3

Molecular weight of the two polypeptides coded by both mRINAs can not be compared.

, Bod MRNA o Sogere oo SYS #@‘3}%5&3& WL T D) ﬁ@&@ﬁw.

Question Number : 36 Question Id : 7512365636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For transformation of recombinant DNA into plant cells using biolistic method. which of
the following micro-particles are used.

DI00Bras DNA Q 3ng) o Eemod’A8 H85880 Boha'ds o8 aBrdRs ASHgaes”
&% Bod o dorg e (microparticles)d T derds? q

Options: : N

Silver or Gold (\/
J0s B8 2omrmdo

Platinum or Silver @
, 035 8§ 308 ((/?~

Gold or Tungsten &%

2oMmSo S8 @Uﬁ:ﬂﬁ

1

Platinum or Gold
ég:r.{ﬁf‘f}ﬁa 8% 2omdo

Question Number : 37 Question Id : 7512365637 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which palindronic sequence is recognised by EcoRI restriction enzyme?

D FDoE'RE sovESres EcoRI BRES ISBHS MHfoiatec?

Options:



3'-GAATICY

5'-CTTAAG?Y
1.
F—=CITTAAG—Y
5'-GAATTC-3'
2
—CAATT G-
. 3'-GTTAAC-¥
3'-GITAAC-5'
—CAATTG-:

Question Number : 38 Question Id : 7512365638 Question Type MCQ Optlon %g Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists :

A)
B)
Q)
D)

A)
B)
C)
D)

Lepidopterans
Coleopterans
Dipterans
Corn borer

¥

& §od JPEodo ﬁéwdaé&%

o3 -1
2885 -1
ﬁﬁ“%ﬁ“ﬁﬁj
FORru0°Q)
(%)
&%T@j
5“6:3_23655

The correct match 1s:

:‘f}f}@oéﬁ 238

Options:

Q

&qfls.t 11

&

1)

1)
V)

V)

D)

S 8BS

CryIIAD

Flies, mosquitoes

CryIAb

Tobacco budworm, Army worm
Beetles

588 -11

CryITAb

&ilen, o

CryIADb

toers’ wbardn, edyTra
H& Sy (Beetles)
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@a ® (© O
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Question Number : 39 Question Id : 7512365639 Question Type: MCQ Option Sh
Single Line Question Option : No Option Orientation : Vertical

Match the following lists :

A)
B)
C)

D)

&

A)
B)
C)

D)

Cow Pea Pusa Komal I
Clulli Pusa Sadabahar II)
Brassica Karan Rai

Okra (Bhindi) Pusa Sawani Q/
&
Sod ﬁ%ém:‘&: 2EErH0E !
288 -1
S YFEHS
MES FFOTSE
|ETrRs® E8R070

Bod PFOT

S = g5 8 ¥

The correct match is:

é&@oé 2368

: Yes Display Question Number : Yes
List -
S and fiuit borer resistant

/stant to bacterial blight

esistant to tobacco mosaic virus and
leafy curl.

Resistant to white rust
Resistant to leaf and stripe rust

2e38 - 11

=85 -1l

500 H0dosw Yo Fod YKo IS EES
eE0CHS BEK AT LS

o doerons 3608 Sodadw
esodnEst ATHES

308 Bokd Bheoss JAG°EES

D Dobodw Trde Hoosud Boeodo AT HES



Options:

@a ® © O

, I I 1\Y I

@a @B © DO
, I VvV m N

@A ® © O

.V I VvV m

@a@ ® © O
s Vv \Y I I
e L Ui Tzmesi Qut e e o @v Y il Qusin b e
The infectious diseases which are emerging in ﬁ‘/
L Severe Acute Respiratory Syndm]ne

.  Dengue Fever O
. Mad Cow Disease @
IV. Tuberculosis

Q/?‘
2o LIES wolnargioen &S@

L 22006 e5gd 300wd dogs
I @oirg 2580

M. 5268 amgd

IV. dogabsoges™™s

The correct combination 1s:

ﬁﬂ@o:‘ﬂ oo

Options:

L IV
1.

o L T
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Display Number Panel: Yes
Group All Questions: No

Question Number : 41 Question Id : 7512365641 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Species 1s a breeding unit.

Reason (R):  They are reproductively isolated from the individuals of the same species.
QNS00 (A) 128 o HaSS ©dreo Q'\'

8o (R): @ 83 8T £Jho od |HWgidomr JSES Bod olrown
The correct answer 1s < @,
HOGHS HIPGSB0 @

Options:
Both (A) and (R) are true ané(jgé the correct explanation to (A).
(A) 508050 (R) e aucay/(@q_ 59. (R) 038 (A)s H0808 2Sdeo.
1.

Both (A) and (R) are true but (R) 1s not the correct explanation to (A).
(A) 508030 (R) o0 Bodr 2830352, 570 (R) 938 (A)% S80S 88 5°¢%.
2,

(A) 1s correct but (R) 1s wrong.

_ (A) 80356, 59 (R) $0@058 Se.

(A) 1s wrong but (R) 1s correct.

, (A)38g058 526, 50 (R) 5683056,

Question Number : 42 Question Id : 7512365642 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following:

Set-1 Set-11
A) Theblack buck )  Grus leucogeranis
B) Kashmiri stag Il) Panthera leo persica
C) Pygmyhog Ill) Antelope cervicapra
D) Siberian Crane IV) Cervus elaphus hangiu

V)  Sus salvanius

Bod A 228DBath .

wesg -1 wedg -1I1
2838 -1 238 -1l
A) &y =08 ) " ers§E80°355

5

B) 58 Sy ﬁvﬁ OTBr20)5

@maﬁ"ﬁ 805>

I
D) 200k §of ,Q OO0 DTS S0
Cj@) S5 PSS

The correct match is @
¥ S'Bo Q/Q

Optio:; : 5 é &%

D
I I N W

C) Dododozy Sob

< > H »
=
-

B €& P
. I W T

A B €© P
LJF W OWN 3

Question Number : 43 Question Id : 7512365643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (S) : Bilaterally symmetrical animals are less efficient than the other animals
in seeking food and locating mates because of cephalization.

Reason (R):  Cephalization is developed in bilaterally symmetrical animals.

g (S): Seardyy ARd BodPen 58 DI0TYSS’, HolHEII I T SEod’,
288 £Pho ol &89S JddSodor & odrow.

&
s*8mo (R) : Boardyy QD wohPHod® 398 5B Tod wotwod.

The correct answer 1s
OGS DB rHSw

Options:
Both (S) and (R) are correct and (R) is the correct explanation to (S).

| (S) 3000 (R) w0 Bodr 50805, (R) €36 (5)@@9@5 DS58¢eo.

%

Both (S) and (R) are correct but (R) 1s not the txot/%t explanation to (S).
_ (8) 00 (R) & Dok $OGS. 59 @@3& (S)8o HBGS DB8e0 o,

(S) 1s correct but (R) 1s not correct. @Cj

, (9)%o@i6, 52 (R) $08H:5a 3

(S) 1s not correct but (R) 1 eck
(S) 585056 56, 57 (R)Nog0ds.
4.

Question Number : 44 Question Id : 7512365644 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following:

A)
B)
O
D)

§o&

A)
B)
O
D)

&
The correct match 1s @Cj

56808 S°EBoDH

Options:
A
1. I
A
I
2.
A
z I
A
4, il

Set-1

Prevent leakages of body fluids between cells
Provide cytoplasmic channels between cells
Act as rivets in binding the cells

Attach bones to other bones

S S E8=

TP 28DBOTLAW.

wids -1

25 -1

Serre Qg 00 (Eoren s7Esom AT QoNTE S
Sere Hody SEsy Bogeds JEHE8
Serodo w0foBEos® BALeE HATD

szH8°®

B C D ,@
I I V
B C D
m I N
B C D
1 V N
B C D
I N I

Set-11

Gap Junctions
Ligaments

Tight Junctions
Anchoring Junctions
Tendons

medg =11
265 -1
@0l Dofoew
2305570
Doy Sodoew
2088 Hofhen

myoson 200 5 Me00d

Question Number : 45 Question Id : 7512365645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct statements with reference to Platyhelminthes:

These are the first bilaterally symmetrical triploblastic animals.

They have pseudocoelom which acts like a hydrostatic skeleton.

Hooks and suckers are present for attachment in parasitic forms.
Fertilisation is internal. development is indirect with many larval stages.

O N we

T )pHRB D0220800 JVGDS TgPgOd F3gouaH®.

A 23 HEH gy RS BIBE 2o Heo

B =23 %ﬂ%@é @?@Jﬁo%éu e DID TS %’Eﬁéé.}?’mﬂ"“c?}l DA Sodron
C. 308 290’ vdhF ) IFAE T, wolndfeor wolran

D. @088d0b88n, o3t doLls Sfod H6°8 Eﬁ)é’)&%

Options: (\9
. AB&C Q

, A.B&D A
&

. A.C&D @
, B.C&D Q/?‘

Question Number : 46 Question Id : 75123 uestion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orienvation : Vertical

Identify the correct statement with reference to “Earthworm’.

TIFD0E Sowohon S8 Frgpgodo ffowlbe.

Options:
Male genital pores are present on the ventro-lateral sides of 18 segment and female
genital pore on mid-dorsal line of 14™ segment.

DHR 238 Sogren 185 poddld) wis-FoEored’, @ 2200 Jogo 145 podesy)

Snde Sy S oo,

o
=



Male genital pores are present on the ventro-lateral sides of 14™ segment and female
genital pore on mid-ventral line of 18% segment.

DDA 238 Jogren 145 poddy id-rindored’, @ 2200 Jogo 185 podsy

eddde Sy "Sgp:?"._:i S otTow.

Male genital pores are present on the dorso-lateral sides of 18® segment and female
genital pore on mid-ventral side of 14™ segment.

QA 238 Sogren 185 poddd JHR-Fodorod’, @ 208 doo 145 podsy
Gldde 0@y Spn Godrow.

Male genital pores are present on the ventro-lateral sides of 18 segment and female
genital pore is present on the mid-ventral line of 14® segment.

DD 2IS Jogren 185 podd) ﬁﬂﬁ&if-‘d{;}gé@@ﬁ% 2208 Sogo 145 poddd)
Gidde Sogs Spw wolrow. @'

4 &(1/

ption Shuffling : Yes Display Question Number : Yes

Question Number : 47 Question Id : 7512365647 Question Type: r@,o
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statements with refé€rice to Urochordata.
Circulatory system is closed

Atrial cavity 1s lined with C&H.

Notochord 1s cnnﬁnegl{@e tail only.

Burrowing mode of life’

O nNn Wy

xS giriy So06od KOS Frgpgosy Hfowhiw.
A s)8 58 Dol JEDHGdn Sgan wotood

B. JEohS Boirbo 2irysod’ ©500d wotnod

C. HRHoddn €68 Im@d H0NS otnod

D. Do58 #3535 dgrso

Options:

. A&C

A&B
2



. B&C

, C&D

Question Number : 48 Question Id : 7512365648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following.
SET-1 SET-1I
A) Procoelous I) Caecilians
B) Amphicoelous ) Mamumals
C) Opisthocoelous II) Amurans
D) Amphiplatyan IV) Urodeles
Bod DD =BG L. O
S638 -1 QQ‘?-H
A) HEH8 }K DO en
B) &goins Cj%ﬂ Sgmen
C) a0 @ ) J&rgsSeo
D) egosdsodeo ((/?“ IV) oSar&'éSen

The correct match 1s ,@

SO FE0Y

Options:
A B C D
I I I \Y

1.

A B C D



Question Number : 49 Question Id : 7512365649 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following is a “Protein motor molecule’ of a cilium or flagellum which
helps the microtubules to slide for bending movements?

& 8o TAS" ) WES Tro¥ wmd) 30% S5 Ergod” ol W Trdio Hod)
B80S SFchddodoh?

Options:

Tubulin
w5m5@5

o)
o >
ein

3 (1/

Nexin @
S8

Myosin %

DD &

Question Number : 50 Question Id : 7512365650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following:

Set-1 Set-1I
A) Hologamy I)  Paramecium
B) Multiple fission M) Euglena
C) Homothetogenic fission M) Trichonvmpha
D) Symmetrogenic fission IV) Plasmodium

¥4

508 TP 228580t d%0.

5838 -1 588 -11
A) SIS HED D Dodaabo
B) advg 33:33{353; ) aﬁ)}“ﬁf
C) S3r3s'a35 298 m &sy>
D) 23y 'BIE 208 V) d8apo

The correct match 1s é

586308 &G0 &)

Options:

HE 1t B
K2

A B © B

, [ i I ‘W
A B C D

.V I 1 1
A B €

, I Vv I T

Question Number : 51 Question Id : 7512365651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the enzyme secreted by trophozoites of Entamoeba hystolytica to dissolve the
mucosal lining of the intestine of man.

DOLDer PO BN, FAEETY & (od TES” w8 JoBW (PRI I i
806500 FQYo V) EBAoWS

Options:
Hyaluronidase
SN SARE

Histolysin
AR TSNS
B a

Acrosin

DEDS

A
Renin CJ@
, OIS @

Question Number : 52 Question Id : 7512365652 Q&] Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientatian : Vertical

Nocturnal periodicity 1s exﬁSbjted by

WTFe widio d HEgoRs:
Options:
Trophozoites of plasmodium
1 FYBaioo FPRESTe
Sheathed microfilaria larvae of Wucheraria
&&08air 08, S Gorfa e ?.._o@‘:géjaoﬁ:r“ Godisren



Sausage shaped larvae of Wiuchereria

& $Boalr B, F oS w58 Gdodsen

Sporozoites of plasmodium
FIEaDo Boog), ANETE wItws

Question Number : 53 Question Id : 7512365653 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following drug is extracted from the dried latex of the unripe poppy plant
seed capsule?

T D&, ©HOHE B HEE BwE) Jodd SHE) o & Eod TISY 2 Dok

8862 ,\C?)
Q

Options:
Heroin &(L
2POTOL @
@

Cannabinoids $

. E§I DT 0N Q) %Q/
Morphine &
EﬁJ“ﬁJE

Cocaine

535

Question Number : 54 Question Id : 7512365654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Appendages are absent in the following head segments of Periplaneta:

W0FIir SOS' & 1§ob Poderod” Gromer ol wolrow.

Options:



First & Second
20088 & Bodd

Firs

t & Third

oSE & JorEd

2.

Third & Fourth

. Sords & J“f:g;’:

Second & Third
Bods & LHrds

O

Question Number : 55 Question Id : 7512365655 Question Type: MCQ Opti fling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements are true wi g{ect to the circulatory system of

Perip
A
B.
]

D.

.‘TGHE?H? americana’? @

Heart consists of 13 chambers. C)

Haemolymph brings oxygen from ae and supplies to different organs.
Contraction of heart chambers , the blood to flow into aorta and from there in

to sinus of head.
Alary muscles facilitate th@w of blood through the heart.

VODPIEr D05 EHIG0 gDk Dowodod & Bod Tgpged’ HB8FBED AD?

A
B.
C

D.

Options:

rydaioo 137 Hdbeds §OA Gokoi

‘B8 §'R800" rasnarere $108 @§aSH BHIrod DG wScharedy HEHT Waswkd
%08 Hhe HoFTo 30 HoBS'A FEo JHFPHIS'E PIToN wE) & ool o'
§L0°08 (H5rH00s

G50 o8 T RITroRTS HFTES SodTren DITrEdTow

A&B

1.

A&C

2.



. B&D

, B&C

Question Number : 56 Question Id : 7512365656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Match the following:

Set - 1 Set-11
A) Testes b 7.8 9™ abdominal sterna
B) Owvaries m 4- 6™ abdominal segments
C) Mushroom shaped gland II) 2 - 6% abdominal segments
D) Genital pouch IV) 6. 7% abdominal segments
808 T wEDBHEw O

558 -1 @%’ 5
A) Soimen K(V 8.9 &8¢ &Idesren

B) LEE D8 T en C)% 4 %008 6 G688 podares

@ M 2%08 6 &85 podaren

IV) 6.7 &85 podaren
((/?‘
K2

C) LT usdy KHod
D) =238 8480

The correct match is

50638 &0

Options:
A B C D
, I v I 1
A B C D
, I M IV I
A B C D
m o I IV



Question Number : 57 Question Id : 7512365657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Doubling of metabolic activity with every increase in temperature by 10° C is called

©8 10° C o &JF (s DS 258> 3w Do) wHB0E 8D JahSodw:

Options:
van't Hoff s rule

> 5D daprBoo
1

Allen’s rule

o)
Y8R WCN0 Q\'
Bergman’s rule é
| BESrS Ao O

Jordan’s rule Q/?“
e Ao o
4 S &%

Question Number : 58 Question Id : 7512365658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following.
Set-1 Set-II

A)  Mutualism [)  One species is harmed and the other species is unaffected.

B) Commensalism II) Both the species are benefitted.

C) Parasitism IIT) One species is benefitted and the other species is neither
benefitted nor harmed.

D) Amensalism IV) One species i1s benefitted and the other species is harmed.

& 1Boh TEQ 285800R%0.

we3g -1 H88 -1I
A) edgargEcd D 28 & é%écﬁ:e@:’wo& Bodkd wE D
dardddo Qerodd Rerdo Godkd
B) &&gtagdo ) JBodk =rdoen o FolHT3e
C) Hod) &880 M esers oeshdsod, 65\50 28 LA
So eeSHEE (1/
D) 23700 IV) =g oré wﬁ:@w&. BoES 8 IQRFS0H
The correct match 1s @Cj
DO F'doY ?“
Options: @
A B E B %
I IV 1 I &
A B C D
o o0 m N 1
A B C D
= 1 I m N
A B C D
4 vV Il I I

Question Number : 59 Question Id : 7512365659 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Increase in the concentration of a pollutant at successive trophic levels in an aquatic food
chain is called

U8 BHEY Toodod® sdghad mES o TFaEFon $0d HoFE rasaons
2EHSrFE T
Options:
Biodegradation
1 BFENBAN

Eutrophication
, ORrErIB AN

Bio-remediation

N
HEIBAWBERS (l/Q

>

Bio-magnification
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Question Number : 60 Question Id : 7512365660 Q@ﬁ Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orien%n “WVertical

A



Match the following:
Set -1 Set-1II

A)  Glucose I)  Facilitated diffusion
B) Long chain fatty acids IT) Secondary active transport
L) \f‘itamjan IIT) Formation of Micelles
D) Fructose IV) Castle’s nfrinsic factor
Sod S8R 2388580¢50:00.
588 -1 5% -1
A) Kr&E D oy gdso
B) &:gﬁaoaaﬂ red @Eﬁ;:m IT) &:ﬁgéo‘i} D8l Sarer
O JLXs By, o) ZvBen déo
D) @§& V) F&aﬁ@‘y}ﬁ NE &0

v

The correct match is @

HOGS oD
Options: @
A B C D ?‘
I T v I%
A B 3 D
, IV 1II I II

Question Number : 61 Question Id : 7512365661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following:

Set-1
A) Emphysema
B) Asthma

C) Siderosis
D) Pneumonia

$o8 TR 28080t Aw.

A) dopdsr
B) eadargd
C) Q&TID

D) Ssrglordodor

The correct match is

500D FE0Y

Options:
A B C
. AV I I
A B C
, I I I
A B C
2 II IV I

A B C
I II \Y

SBE°

[

)

S B8

D
I

Set - II
Lung infection caused by bacteria

Damage to alveolar walls by tobacco smoke
[ron particle deposition in lung tissues
Inflammation of bronchi & bronchioles

SEE -11

2r800ir doEdomo o w088S’ IR T30
FHEriido Do TANFTo Fden 3INeow
0l8Re Snroros’ adddangen Fodiddiudio
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Question Number : 62 Question Id : 7512365662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (S) : During blood clotting, soluble fibrinogen is converted to insoluble mesh

work of fibrin.

Reason (R):  Factor XIII cross-links fibrin monomers by replacing covalent bonds with
hydrogen bonds.

Tgwg (S): G088 (HI8oRe” 88A AT RS 85 PAR Somr SrddyBoddo.

sdwo (R): w980 X 350Branch womodh E'es wo05eam Srdde: 20
ST oo BT 20H0L.

The correct answer is
2O HIFGEID
Options:

(S) 1s not correct but (R) 1s correct.

O
(S) D8GIE 5°¢h, 570 (R) DOTDoIG. (§'

Both (S) and (R) are correct.

&
(S). (R) &0 Bodr $833:85. &J
(S) 1s correct but (R) 1s not cu@?

| (S)egHss, &0 (R) éf};@ 0.

Both (S) and (R) are correct. but (R) 1s not correct explanation to (S).
(S). (R) Bodor £053:82. 50 (R). (S)% 205308 DHdee 5.

Question Number : 63 Question Id : 7512365663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Facultative reabsorption of sodium ions and water takes place in

A, FEOho woirawr IS YK Tom S PEYoS" FFacsiudaron.

Options:



Proximal convoluted tubule

BD Hod9s 9%

Distal convoluted tubule
STl DoI¥S T8

Ascending limb of loop of Henle
TR3Ey a8 98

Descending limb of loop of Henle
TSy eS8 98

4 (b

Question Number : 64 Question Id : 7512365664 Question Type: MCQ Ojitign Snuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical &

Match the following: %
Set-1 t
A)  Condyloid joint I) tween Atlas and axis
B) Pivot joint ﬁ“]ﬁ’.emeeu carpal and metacarpal of thumb
C) Saddle joint Between occipital and atlas
D) Gliding joint ,@ IV) Between Inter-carpals
ol TR 28DdothBw.
558 -1 588 -1

A) soGerond Sen 3835560, wEEItEo Sodg
B) SoKksy &en
C) &S 8exw

D) =73 Sexn

2583 Jenes 88, Doedaodo B0y
56850, eSoEFery S0k

S8 8°F

5’)355230@35""@3}&: 333655

The correct match 1s
2D0GS &G0

Options:
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Question Number : 65 Question Id : 7512365665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (S) : An action potential occurs in the melnbr@ the axon of a neuron due to

influx of Na" ions. Q
Reason (R):  The action potential occurs whwl epolarisation reaches a threshold
potential of +55 mV. @

g (S): @b Sopgds’ @&@U@%m TRE0oS*s (P330udo ST T &%eo
So|E ED) #qiio g)UW%éé@ A EE 08
g0 (R): 388 Jgodes FNFTQ #810 +55 MVE [h&od® edyds §aird8)o

Dfﬁgcéoé::o& &% ’

The correct answer 1s
HOFS DEFTHBH0
Options:
Both (S) and (R) are correct but (R) is not correct explanation to (S).
(S) So80i0 (R) o0 Bodr 20305, 570 (R) o368 (S)& H8G@Bed D8 sdk.

Both (S) and (R) are correct and (R) is the correct explanation to (S).
(S) S08052 (R) en Bodsr $05052. (R) @38 (S)&H $8g0& J5de.



(S) is correct but (R) 1s not correct.

(S) %0058, 50 (R) $05058 sk
>,

(S) 1s not correct but (R) 1s correct.

(S) ¥0GS8 52, 572 (R) HOS8.
4,

Question Number : 66 Question Id : 7512365666 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (S) : Cortisol 1s a “Stress combat’ hormone.

Reason (R):  Glucocorticoids stimulate gluconeogenesis lipolysis and proteolysis.
g (S): TS el b Foob TS

sdmo (R):  ArfsgsronGen Kr&adradnt, g@@ﬁ FESIrBIS oS0

Ednaon. Q’\r

The correct answer 1s
ﬁa@é PSP LT AR B OL C)@
Options:

Both (S) and (R) are correct but ( not a correct explanation to (S).

(S) H08050 (R) e Sodr S8R, 570 (R) 636 (S)80 30808 e 5.
1.

Both (S) and (R) are correct and (R) 1s a suitable explanation to (S).
, (S) H08a5x (R) en Bodr $650:89. (R) 938 (S)50 30508 Dh8k.

(S) 1s correct but (R) 1s incorrect.

(S) %8058, 53 (R) $65058 570,
>

Both (S) and (R) are mcorrect.
(S), (R)Bodr S6GB8D 57,
4.

Question Number : 67 Question Id : 7512365667 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Hyposecretion of vasopressin and insulin results in and

T [RRYR, YO FG o0 woYFIES Jod ; Trgeoen

RO DT 0.

Options:

Addison’s disease and diabetes mellitus
0888 Tg8, GoSrBED 2D

Cushings syndrome and diabetes insipidus
gon0f) No|E ), $oiradid RNVRER
Z.

Diabetes insipidus and diabetes mellitus (b
SSrBUR Aeonde, ErBddn oL @’
<3 g (1/
Hyperglycemia and diabetes mellitus é
HE ApcSe, $05rBss 2owLd ()
4 - € = @
Question Number : 68 Question Id : 7512365668 Q@ﬂ Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orien%n “Wertical

Which one of the following antibodies is present in the colostrum of the mother to provide
immunity to the new born baby?

& Bod TIST D POBF;EN Y FSPHS $08 ILrd NP FAITEESSH
BEF %2082

Options:

IeG

1.

IgD
2.

IgA
=3



IeM
4

Question Number : 69 Question Id : 7512365669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Cervical cancer 1s caused by

Hopdad Sl 57550 8 Jod 5H08.
o =

Options:
Herpes simplex virus

TS BoE) 368
Human papilloma virus

S
TS FRSEr BES ‘\,Q

Treponema pallidum C)@
(BFISr FIES @
Human immunodeficiency v%g/
Sorgdon R0 BRwod <

"
a_

Question Number : 70 Question Id : 7512365670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following:
Set-1 Set-II

A)  Surgical contraception in females [) Vasectomy
B) Natural contraception M) Copper T
C) Surgical contraception in males I) Lactational amenorrhea
D) Uterine contraception IV) Tubectomy
Sofh AR 2dDBHh Hw.
wtdg -1 038 - 11
2838 -1 2835 - 11
A) @fﬂ@“ I3 08 doed JTEEE D Sg
B) S d8Q5EES ) s36'T
C) HSwos® §Z08E) doad ISEES Qy3as exsscsr
D) dopdah doerd JE'EES (@ LPgBE

The correct match is Cj@

206308 80 @
Options:
b &

A
D
I

=
H w H w
-

A C
.\ I

A B C
.V I m I

I I v

Question Number : 71 Question Id : 7512365671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (S) : Rh incompatibility causes ‘Erythroblastosis foetalis’,

Reason (R):  Erythroblastosis foetalis is not due to haemolytic anaemia.
Fgwg (S): Rh 5768 033 fegd So '8 E TR DETOD bdgcéoe:ﬁ::o&.

oo (R): ‘0Pt 2irdd rirgddf eaddir Su ddydd.

The correct answer is
HOGS Jdrerdsw
Options:
Both (S) and (R) are incorrect.
(S). (R) Bodr 38080 5.

Both (S) and (R) are correct and (R) 1s a suitabﬁ%‘}ranminn to (S).
(S). (R) Bodk> $8a0:59. (R) (S)s%0 éaﬁ;é\zmsaa.
’ O
(S) 1s correct but (R) 1s incorrect. @
(S) B8g058, 52 (R) s’a&@:é% :
=3

Both (S) and (R) are c@ﬂ@é@ (R) 1s not a suitable explanation to (S).
, (S). (R) Bodr 203050, 50 (R) (S)S550 $0g808 Jhden 5.

Question Number : 72 Question Id : 7512365672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following:

Set-1 Set-11
Ay XX-XO I) Fumea
B) 7Z0-7Z7 I) Reptiles and birds
C) ZW-Z7 Ill) Drosophila
D) XX-XY IV) Grasshopper

$o& AV 2EDBathbw.

598 -1 588 -1
A) XX-XO D rgotr
B) Z0-7Z ) B63yFes, Hoe
C) ZW-ZZ ) (kY-
B Xy-%y V) @'}!

The correct match 1s @
HBGE F'AoY C)
Options: @

I\% I
2,
A B D
J\Y, il I I
3,
A B C D
il \Y I I
4,

Question Number : 73 Question Id : 7512365673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Down’s syndrome is a genetic condition that causes delays in physical and intellectual
development. The cause of this genetic disorder is

FTIVoED o3 o8 adgnd 088, Hrdds wdHH SotndBhiy Tod. & ey
wIP88 5 ¥eakw.
Options:

The partial deletion of the short arm of chromosome 5 or Sp monosomy:.

58 FRrE RS G IS’ Fodario Swoddo B SP ISt

The presence of three copies of 13% chromosome in each cell in the body.
G50’ P8Eadndod 135 Farstan dord (3) P Goddo
2 (b
The presence of an additional copy of the m 91 chromosome (Trisomy 21%)
21 5 =28 F3rStns I wddom :::5‘5&@ wodbo (215 Fars™S |B')

The presence of an extra copy of the getietic material on 18® chromosome either in
whole (Trisomy 18) or in part (due t nslocations)

18 5 F3rf 0dldy 98 ﬁr;@ 185 F3r&' rom 50 (B 18) S
8o {cﬁga‘“oécﬁ &50‘6@} oldo So JoPI™od

' A

Question Number : 74 Question Id : 7512365674 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following:

Set-1
A) Coacervate theory I)
B) Theory of Catastrophism 1)
C) Theory of Biogenesis 1II)
D) Theory of Abiogenesis V)

V)

Bod TP 2380800 D0.

538 -1
A) %3S wayodo D
B) @¥csosde ’bﬁ?ﬁuéo II)
C) addraZldns “Todo 1)
D) SESrES)InE Hn wgodo

Set-1I
George Cuvier

Louis Pasteur
Plato
Lamarck

AL Oparin

i

Al (1’(-253‘5'2?

Al 2380
4

S
9

The correct match is

5688 &80

Options:
A B C D &
¥ a4 o m
A B C© D
, B W HE W
A B € D
-V I M I
A B € D
LI W T

Question Number : 75 Question Id : 7512365675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical



Identify the correct factors with reference to Neo-Darwinism
Reproductive isolation

Genetic recombination

Struggle for existance

Natural selection

N we

QBrE 8 e N8 Ho2odod HOWS s7dsrod Hiotod.
A @DEgS8 D588
B. adg Jd:doBraarw
C. Hodond Bdo dordro
D. ©5838m0
Options:

O
. A B&C '\’
>

) A.C&D

. B.C&D @
. AB&D Q/v

9

Question Number : 76 Question Id : 7512365676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following :

Set-1 Set-TI
A) Disruptive selection I) Lucky survivors after the calamities who are
genetically different from their original population.
B) Directional selection I) Weight of the new born babies in England
C) Stabilizing selection ) DDT resistance in mosquitoes
D) Bottleneck effect IV) Darwin’s finches with different shapes of beaks.

ol A 288 Hw.

H&38 -1 o838 -1
w8 -1 =88 -1l
A) D8 Sdeao D 958 38bergo SHT8 288, alogddor T
SreaTerd JTH0DS wlyREHes
B) &a3diwg H8mo II) ROMOLS” 2 PR Jhrd IDHo 28I
L2} ?gégdﬁ) S0 M) &Soees® DDT 8 IR &8
D) erBE3E Herso V) @05 oS ?@d‘ 208 ©EE08 &S

S8, o0 &
The correct match 1s C)@
DOGHS FéoY @

Options: @

A B C %
. I I I\Y 'S\
A B B D
o I |\Y% II I
A B D
2 \% 1 I I
A B 6 D
, 1 I m W

Question Number : 77 Question Id : 7512365677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In induced breeding of fish. the agent that is injected into brood fish to induce release of
spawn is

B0S* (H0S Hass $5505H0S° & S8R IS DdEe Bovols FEE Ers DS
RoB§ Daxdo.

Options:

o - lactalbumin

Ol - 5 e\adw
=] B

Ovaprim
VRIS

o - Antitrypsin

o
o - oSS q/Q\/

Propolis é
I FOS &)

Question Number : 78 Question Id : 7512365678 Q%gType: MCQ Option Shuffling: Yes Display Question Number : Yes

s

Single Line Question Option : No Option Orientatiol tical

The main diagnostic applicg@f Electro Encephalo Graphy (EEG) is

o ITpS e (EEG) G, @58 dosrmps eddgso

Options:

Myocardial infarction
| NArsRohd avPrbEs

Epilepsy
ETEY



Blocks in blood vessels

STreod’ly eS8 T e
3

Aneurysm

@-Eﬁrga 23003
4,

Question Number : 79 Question Id : 7512365679 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Cancer cell exhibits all of the following characteristic features except.
57595 Beadn & 508 ¥ ofmo &B) DAOS vhHoFdnod HEGNOH

Options:
Absence of cadherins '\cfb
34050 Dot Q/Q

! A

Failure of cell cycle regulation C)@
Eeal| Qoo IDwgo @
2. v

Anchorage dependance %

o8 asrdo
3.

Damaged apoptosis pathway
BenNSN) Wegrd5red Sdod DHHB
4 B =l o

Question Number : 80 Question Id : 7512365680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (S) : Gene therapy is the insertion of genes into an individual’s cells and tissues
to treat a genetic defect.

Reason (R):  In gene therapy a deleterious mutant allele 1s replaced with a functional
one.

s (S): 20gD88) @0l 2gHO) Hg8 GoE), Eegren, merere’s How agS )
DoWSado.

820 (R) : 230gNEHS" FIAEEDS ¢EBI/E BwAEOA) EBTE)E 2dogHE’
P&showso.

The correct answer 1s
DOTS DArardsn
Options:
Both (S) and (R) are correct and (R) 1s the corre anation to (S).
(S). (R) Bodr 385052, (R) (S)% 3658 28¥m.

&

Both (S) and (R) are correct but (R) 1 a correct explanation to (S).
(S). (R) Bodr 863082, 570 (R > OGS DN L.

2| Q/
(S) 1s correct but (R) 1s n& ect.

(8) 9853038, 570 (R) $6030358 576,

(S) is not correct but (R) is correct.

(S) B85 T, 5 (R) HBS0SH.

Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 7512365681 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following statements about fundamental forces.

A)

B)
C)
D)

List-1

Gravitational force

Strong nuclear force
Weak nuclear force
Electromagnetic force

I) Has infinite range and can be both
attractive and repulsive

) Weakest force but has infinite range

) Strongest among the forces

IV) Responsible for radioactive decay

@8 wore HBod &S S Jddpdwedy 2EHGIw.

A)

B)

©)
D)

w38 -1
w5 -1

i"bfﬁaéﬁga}ﬂo

woIs Sods wewo

S0 Sods 2o
Q&ogticioa 08 200

The correct answer 1s

28 a’aa@:é OIS LA IR

Options:
A
1. v
A
I
2.
A
= I
A
4, I

B
1T

= ®
=2 O

H W

H W

H N

=0

= 0

EE =B

= O

D
1

w&3g -11
LS -1l

D oS08 gy SONS essdem 55000 DEde
2L

I & Cﬁo:ﬁmﬂo, 5°Q @dod g §O0
ﬁo%@

1I0) a&%}@" B9 wdod 00

% 3308 §05rR8 5o
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Question Number : 82 Question Id : 7512365682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



If the velocity of light “c’. the constant of gravitation ‘G’ and Planck’s constant */” be chosen
as fundamental units. the dimensions of mass in terms of ¢. Gand 7 1s

5708 Jfo ¢, g porodo ‘GT S0 o8 Rorogo N ol STOE Phrereoom

QdnBo0d, (55078 den ¢, G hoddw hdTes®

Options:

WK GH
1.

WK
2,
_ WhcHcH

o)
A q,Q'\/

4

Question Number : 83 Question Id : 7512365683 Question Typ@}%omion Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Verti

The speed versus time graph of a movi icle is shown 1n the following figure. If 1" 1s
the initial speed at 7=0. v 1s the spee et, ‘a’ 1s the acceleration and s’ 1s the distance
covered in time ‘7, then total area OABC is best described using,

(Assume O as origin) &

H3000S" ) &8 Bl S& 000w sToodB fo TR §od HLoS” drdadds. 1=0
38 TR FO I& W, tvoo G T 5& V), &beao ‘g’ HBASn I Twod” [HaSreiond
&rdo ‘s @owd, OABC dwgo S7ergd) §ob J8S" GAT &&00m DHV0 I

B

Speed (m/s)
S& |

F

\

i 1§ L et o
o

—

o

wn

p—

5'Q0

Options:



v=u-+at

s=ut+=at’
2

Question Number : 84 Question Id : 7512365684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A ball of mass 100 g attached to a string 1s whirled in a hmiqstai circle of radius 1 m and
at a height of 2 m above the ground. The string breaks aftegsonie time and the ball flies off
horizontally and hits the ground after travelling a hoﬂzou@'. tance of 10 m. The magnitude
of tension in string before the string breaks was (Let'gl5 10 m/s?)

SO obd 2mIKS' 1 margrdorio §&a 86 Fos® a8 So®8 AAoNS 100 g
BSgTraie 008 ASAS Jom 8. §9
Srdomr JAdJFon, 10m §&e: ddrods

Hoooth TS S5g8 HoSreo (g

K2

200 8078 So|@ BA 208 §82 HArodo 8
) Boiredod o e ddod. 0@ BNerdS

m/s? e &8 %%0)

Options:

ION
1.

I5N
2

Question Number : 85 Question Id : 7512365685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



A ball 1s thrown in horizontal direction from a height of 80 m with mitial speed v,. The ball
hits the ground with speed 3 v,. The magnitude of v, is (Let g = 9.8 m/s?)

w8 008 80 m JEy ood V,FOSIRE §8udIrodd BIST V0T, & 208 Jod
3V, 588 SiHendood. V,Hn05rm0 Jend (g=9.8 m/s*>m ko5 $0s0)

Options:
10 mv/s

14 m/s
3

18 nvs

=
26 mv/'s cb
4, Q‘\,
Question Number : 86 Question Id : 7512365686 Question Type: MC&)tion Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : When a body at rest breaks@gévo pieces of equal mass. the two pieces
move in opposite directioiwyith same speed.

Reason (R):  Conservation of mo1

&

B8E580 (A) : ﬁéﬁﬂ%@@ﬁ@g 5809 Body 3578 |SSgoHooie 08 e
DEF s8N Bodks S0k, 00 SEEERTOS® Hrd SAS® Hosredon.
80 (R) : BSgaKH Qegetdon

The correct answer is
HOGS HETPEHID
Options:
(A) 1s true but the (R) 1s false.
(A) 038 d850 53 (R) 038 eddghw.

Both (A) and (R) are false.

(A) 500080 (R) en Todor edargen.
2|



Both (A) and (R) are true and (R) 1s the correct explanation of (A).

(A) 508050 (R) o0 Bodr dergen $08050 (R) @36 (A) 8§ 05308 DHSde.
3,

Both (A) and (R) are true but (R) 1s not correct explanation of (A).

(A) 500050 (R) en Bodr degen 50 (R) o386 (A) 8 38508 Ddde 5.
4

Question Number : 87 Question Id : 7512365687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two blocks A and B of mass 3 kg and 5 kg, respectively are connected by a weightless rope
and are kept on a frictionless horizontal plane. The block B is pulled to the right. with a
force of 32 N. The tension acting on the rope connecting the block is

S 3 kg 50050 5kg@S503e ASobosks Bed &E\k%aﬂﬁébé & SoFSIED
208080 §8RNSEr0dE 00D BodTE. Bamﬁ@ﬁé@ 32 N w008* ernads.
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Question Number : 88 Question Id : 7512365688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A bomb is kept stationary at a point. It suddenly explodes into two fragments of masses
1 kg and 3 kg. The total kinetic energy of the fragments is 6.4 x 10 J. The kinetic energy of
the smaller fragment 1s

28 DoY) HG R0 oS eroaw, sy 1 kg Hodin 3 kg (@dgordesie Bod
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Question Number : 89 Question Id : 7512365689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The workdone by an applied variable force F = arx + Bx° from x =0 m to x = 2 m. where
x is displacement. and constants o= 1 N/m, =1 N/m’. is

w0508 Sweoo F=oax + Bx°, x=0m $ood x= @c‘jé} RS (W& ¥ I
i iy T 3
FSEodsn, a=1N/m. f=1Nm’ (\/Q
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An object tied to arope of length / = 24/2 m is allowed to make rotational motion. During
rotation it makes an angle 6 = 45° with the vertical axis shown in figure. The tangential
velocity of the object is (Assume g = 10 m/s?)

1=2\2 m 28550 566" 200DS 2.8 55950 FHrnrHoso Boswit ©%580m 5.
D0S” Trad JFom 1PHwod' DHSyE 8 SY JwP wES B = 45° Fwo
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A solid spherical ball rolls down a symmetrical bowl. starting from rest at the top of the left
side (see figure shown), height */” from the bottom. If the left half of the bowl 1s rough and
the right half has no friction. the vertical height the ball will reach on the smooth side 1s
(Assuming ball rolls without slipping in the rough side of the bowl)
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A ball connected to a mass-less spring 1s executing simple harmonic motion. If K and U are

K
the kinetic energy and potential energy respectively, then the ratio U when the displacement

of the ball 1s one-third the amplitude, will be

5508 Erd Byofto EODS w8 208 SEELTEE Fossne: Fowuge. K sodabo
Uen S5 82§ 500050 H8aIRBS, 208 THFoddn & §0dS SOWES® Sards
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Question Number : 93 Question Id : 751236 estion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option tation : Vertical

A planet of mass m moves in an elliptical orbit around a star of mass M. The minimum and
maximum distance of the planet from the star is d and 4 d respectively. The angular
momentum of the planet relative to the center of the star 1s

mES5oeH0 wl GhiTrhn, M@sgorato SEghn g &J $emsd 885S" St antodb.
SESSI0 H08 VAT EAD 20K K0P Sroren 3B d Bocke 4d $ES Tos
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Question Number : 94 Question Id : 7512365694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Awire of length L and cross-sectional area A is made of a material with Young’s modulus Y.
If the wire is stretched by an amount x. the workdone 1s

Y oSoofi Homoe Soghnd, >ED L% A’J::c;fgabhc‘.ﬁ STego Ade afd
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In a large water tank. open to the atmosphere at the top. a small hole is made near the
bottom of the tank. The speed of the water ejected depends on

o8 DG A ST GHdgosn TEISrIs 85D ¢od, ) wddierio Daddos®
A3 Soer) I, Yoo $od Idzen ABIE HHSTES' TID LFTIHE.

Options:
Height of the water below the hole
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Acceleration due to gravity
Ho8a&s Eobeaha

2 Q/?*
Density of water ,@

. 8 Foss

Pressure at the top surface of water
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Consider a bubble of radius ‘7 formed inside a liquid with surface tension “y’. For the
bubble to be in equilibrium. the excess pressure outside over that inside 1s

¥ Soddd fo ol Bihn S, 7 Tgrdo o wEl JGEE) HoKBowWBD. Wi
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Question Number : 97 Question Id : 7512365697 Questi e: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation, I

Arectangular plate of glass has leug_%ld breadth 0.3 m and 0.2 m respectively. The glass
plate area is changed by 2.16 @‘5 m’. if its temperature is increased by 20 K. The
coefficient of linear expansi r the glass 1s

2§ BEBHEFTE mar Sof FEH H0cn Ideoyer S6HHM 0.3 m Hr8ce 0.2 m
rardel GPESH 20 K 20089k, S0f 3regosd Sy 2.16 x 107 m” mee 345
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9.4 x 109K

Question Number : 98 Question Id : 7512365698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A wall is made of three layers A. B. C. The thickness of layers A. B. Care L. 0.7 L, and
0.35 L, respectively. The thermal conductivities of layers A. B. Care K. 0.7 K, and 0.35 K,
respectively. The temperature difference across layer B is 20 °C. If the temperature to the
right side of layer C 1s 10 °C, then the temperature to the left side of layer A will be

(Assume thermal conduction to be steady)

2.8 ¢S A B.Co3l Sord ded’ QB oT L. A, B H08c5h0 Carde Soaren S8:&m L{r
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A cyclic process on 1 mole of an 1deal gas is shown in the figure . The temperatures of the
gas at points A and B are respectively 200 K and 400 K. A total of 200 J of heat is taken out
from the system in the process. What 1s the work done by the gas in the process B — C?

(LetR=83JK ' mol™)

28 S SEHTSNID fo HE0H HECHD Bod HLINS® ErHITKH. A Sdoso B
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During an adiabatic process. the pressure of a gas is found to be proportional to the cube of

; B C ;
its absolute temperature. The adiabatic constant [}f: C_PJ of the gas 1s

v
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Question Number : 101 Question Id : 7512365 uestion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Or} : Vertical

Consider a horizontal string tied at both ends and 1s vibrating in its fundamental mode. The
traveling waves have speed *v’, frequency ‘f ", amplitude *A’and wavelength ‘A’. The amplitude

A A
of the motion at points located at (1) x = > (11) 4 and (111) r from the left end of the

string are, respectively
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Question Number : 102 Question Id : 7512365702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

tther directly away from us or
ecetve 1s 10% higher than the
the motion of the star respectively

Consider a star emitting light of frequency /™ as it mopes
directly toward us. If the frequency of the light th
frequency of light it is emitting, the speed and directzion

are (c 1s the speed of light) @

2.8 SFEH0 Hddood [l drdo RSHE B HIJDE S SESoyEd
T 28ISg0 o 57080 Gl o303 HO6HBowaN. oIk (ol 5708
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Options:
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Question Number : 103 Question Id : 7512365703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A beam of parallel light rays from a monochromatic source 1s incident on a solid transparent
sphere of radius R and index of refraction 2. The point image 1s formed at a distance d from

d
center. The ratio ﬁ will be

2.8 :Dé;’.‘rfﬁﬁ 5708 285080 00H JIBN J5r0ds 5ros B8 Hoadno, Rﬁ“gcﬁ“gm $508a0339
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An unpolarized light is falling on a glass surface of refractive index 1.73. If the reflected
and refracted rays are perpendicular to each other, then the angle of incidence 1s

oGS 5708, 1.73 LSS Hmso Ko merdoon S350 Bokrdod. HoHES 5080820

JEHSS 88erren wETITES wowomr GoddBiod, H8380m0 Jewd
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Question Number : 105 Question Id : 7512365705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The radii of spheres A and B are ‘@’ and “b’ respectively. They are at equal electric potential.

If o, and oy be surface charge density of sphere A and E,S/@ectively, the 22 is

O
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Question Number : 106 Question Id : 7512365706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A positive charge ¢ 1s fixed at point x =0 and y=0. and a negative charge -2 ¢ 1s fixed at the
point x = g and y = 0. The potentials at a point on the x-axis where x > ¢ and x >> a,

, 1
respectively, are | Assume =k
<y
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A rod of resistive material of length L is connected to a battery with potential difference

12 V. The resistance per unit length of the rod varies as | p(x)=12x Q/m where x is the
distance from one end of the rod. If the current in the resistive rod transfer energy to
thermal energy at the rate of 600 W, then the length of rod will be

NEEEY Horgsnd Bobwd L dEHfeo o §¢d 12V 2BIcHS B0 Ko D0ers
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Question Number : 108 Question Id : 7512365708 @n Type: MCQ Option Shuffling : Yes Display Question Number : Yes
tical

Single Line Question Option : No Option One«%
In the circuit shown below. ergy dissipated by all the resistors in 2 minutes is
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Question Number : 109 Question Id : 7512365709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two very long wires carry current 50 A and 100 A and are separated by 20 cm. The magnitude
of the magnetic force acting on 1 cm length of the wire is (Let i, = 47 * 10" Hm™)

S0 @8 FEIS Sen w8mrIFEd 20 cm Sonén §OA wod 50 A Sodain 100 A ©
AgS Pl 8O 0. 8 BE) w8 CMFEH P D 29030a, 08 220NN
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Question Number : 110 Question Id : 7512365710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A particle with charge 1.6 x 10~ C is moving with a velocity of magnitude 3 m/s in uniform
magnetic field of 2 T. The direction of velocity remains perpendicular to the direction of
magnetic field. What is the magnitude of net force on the particle?

1.6 x 107 C 3900 2.8 $adn, 2 T D868 wchamod §@os® 3 m/s 35885008’
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Question Number : 111 Question Id : 7512365711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A solenoid with 500 turns of wire is 25 cm long and is filled with magnetic material of
succeptibility . The solenoid carries a current of 2.0 A. If the ma Enenc field mside the
solenoid is (0.8 mr) T. then the magnitude of y 1s (Assuma 41t x 107 Tm/A)

500 <ot Ko 2.8 FBTrond 25 cm FEY trobd X, 5% @050, 08 DI Yo VoDRESE.
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Question Number : 112 Question Id : 7512365712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A metal ring 1s held horizontally and a bar magnet 1s dropped through the ring with its length
along the axis of the ring. The acceleration of the falling magnet is

a8 &' BoBadnd 88 Jdroddom HENFR, wE SoF oA 0s ) T A Sofn)
w80 Joad woddty JSHOTH. ISondd v odo BE), Srdadn
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Question Number : 113 Question Id : 7512365713 Question Type: szt Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

In the circuit shown., find the internal resistan ue ‘7’ of the ac generator. if the average
rate at which energy is dissipated in R 1s &JI um

oS ErDd Sodhos® R Sok m@%mm #§ Hirieodin KBRS, ©ods JE'EIW,

7o Bofmaodw. &%

Options:
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A laser light beam of 1 MW was focussed to a spot size of an area 10~ m?. The rms electric

2
:9x109[NH21 J)

C

field (in V/m) at the focal point is approximately (Assume 7
mE
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A laser operating at a wavelength of 660 nm and the power 9 milli watt hits a target. How
many number of photons arriving per second at the target? (Let h = 6.6 x 107* J-5)

660 nm 504G g0 H¢ HATosn B> 9 milli watt SSoTgd) 89h o8 oFgd) F5E0S.
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An energy of 24.6 eV is required to remove one of the electrons from a neutral helium
atom. The energy m eV required to remove both the electrons from neutral helium atom is

O
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A generalized nuclear fission reaction is given by

BU+rn——X+Y+bn
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A p-n junction has a depletion region 8 x 10~ m wide. The intensity of the electric field
inside the depletion region is 2 x 10° V/m. A hole approaches the p-n junction from p-side.
The change in kinetic energy of the hole as it enters the n-side will be
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Question Number : 119 Question Id : 7512365719 Queﬁho@ MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation

A transistor 1s used in common—ﬂm@ ode in an amplifier circuit. The base current and
the collector current 1s changed B30 mA and 3 mA respectively when a signal added to
base-emitter voltage. If the v& gain 1s 600 and the load resistance 1s 10 k€, then the
magnitude of signal added to base-emitter voltage is

o8 ErQPoodn &3d-emdE 88S° o8 IPE Suohdne® FETH. w8 $ose)
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Single Line Question Option : No Option Orientation : Vertical

In an amplitude modulated signal. if the modulus of minimum voltage. [A__. [=40 and modulus
of maximum voltage. |A__ |=60. the percentage modulation is

A_. | =40 55805

)
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The number of radial nodes of 4 p and 4 forbitals respectively. are

4p.4f sdirde Bachd Seo dopg &S

Options:

1. (0. 0)
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Single Line Question Option : No Option Orientation : Vertical

Which transition in the He™ spectrum will have the same wavelength as the transition from
n, = 1 to n, =2 in Hydrogen atomic spectrum?

He" S5EHL0e85°) ) H05dSE0 TIERS HYSren SESLoS ny =1 5008 n
DOBJYHB DS SR go wolnod.

—

O)
Options: '\/
%

= 2, =%

A
ny—1;n;=3 C)@
X He—=2 0=0 Q/?*

ao=1 . =4
4 1 2

1.

z.

Question Number : 123 Question Id : 7512365723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) :  The ionic radius of Mn®” is less than that of C1*".
Reason (R): Mn’" and Cr* are isoelectronic.

ARSI (A): Mr’" ooird§ ogargsn Cr o8 $8)sm wotnod.
sdmo (R):  Mn™" Sooke Cr' 8 JogSe $0A52.

The correct answer 1s

HOSDE JSIrerdsw



Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A).
(A) 508030 (R) Bodo $8 @ondd S0dosn (R). (A)8 $8 wond Jdde.

(A) 1s true but (R) 1s false.
(A) 58 2osd 50 (R) 986 wonkd 5.

(A) and (R) are true but (R) is not the correct explanation of (A).
(A) H08ac8n (R) ok 36 @ondd 570 (R). (A)s 386 wand 2d8n 5.

(A) 1s false but (R) 1s true.
, (A) 586 @wondd 378 570 (R) $86 wondd. \9

V

Question Number : 124 Question Id : 7512365724 Question Type: MQ&)ption Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which 1s the correct order of electron &ngha]p}f?
QEEE (ERA Quﬁ?@g D8 eow 50 267

Options: &%

ClI>F>0>Li
F>0>Cl>1i
F>Cl>0>Li
3.

Li>Cl>0>F

Question Number : 125 Question Id : 7512365725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Consider the O — N — O bond angles in the following species.

Bod erdeed® O —N - O 2068 0ren Hodokod

A NOZ
B) NOZ
C) NoO,

The correct order of the bond angles in A. B and C 1s
A B 508050 C 08" 208800 &$8 @ond [§85050

Options:

O)
A<B<C (\/Q\'

1.

B<C<A

A<C<B
: &
, B<A<C &%

Question Number : 126 Question Id : 7512365726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The hybridization of central atom in .CIO? and -Cl(}f‘ are respectively

CIOS. CIO® o& o S85mm HosEsmo S
Options:
sp” and sp’

sp” 58052 Sp°
1



sp’ and sp’
sp® $8052 Sp°

Z.

sp” and sp

Sp” So0as0 sp
=3

sp° and dsp”

sp° So8as dsp?
4

Question Number : 127 Question Id : 7512365727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical q

Assuming that air 1s a mixture of 78.1% N, and 20.9% @(@ average molar mass (g mol™)
of air 1s approximately (1/

md DoFdodnes” 78.1% N, odako 20.9% AL #TroHfY md JdoWd dorerd
$S5078 g mol™ o5 Bodrdor @
Options:

| 78.08 Q/v
K2

20.9

100
3.

28.56
4

Question Number : 128 Question Id : 7512365728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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What is the fraction of the total pressure exerted by H,. if a gas mixture contains equal
mass of H, and O, stored in a container kept at room temperature?

378 (G$5g0°3 o H,, O, 57080 Fsr) fd & Zid 38 o8 PBS” dog ¢odd, Sndo
28506" H, $oot@d gro d08?

Options:
1
1. 8
1
18

O oo

Question Number : 129 Question Id : 7512365729 ion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientatiol tical

Consider the following 1'63(:)@

2C0(5) ——C0,) +C

How much carbon (in g) will be produced if 20 g of CO 1s reacted completely?
Bob Wogeo MHdootod
2(:10{3*,) 4}(&02[#} 2 C{r.‘ﬁ:]

20 g COFrgm w8gT0hS 08 R (g o) 818 @HHod?

Options:

10.0
1.



2.14

4.28

>

, 200

Question Number : 130 Question Id : 7512365730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Estimate the approximate amount of Co>™ and Co’” in weight % respectively in C 0,0,
compound

(atomic weights of Co and O are 58.9 and 16 respectively)

C0,0, 33088506 Co™ S8t Co™ B05red) e;*d%“@si" 5D BoSrdomr ot

3o%08. Q‘\,

(Co, O © 38370 eroren 355m 58.9 558050 1%

Options: @&

) 24.5; 489 @C)
33.3: 66.6 ((/?‘

. 50; 25 ,\%
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Consider the following thermochemical reactions.

£ 1 X
EHZ(EJ + ECIE{E) —}HCI{E} . 92._‘51{]

'BC13{E} +3H,0,, —H;BO;, + 3HC],, +112.5KJ

BEHE{E} + 6H20{” —_— 2H3BO3{S] 1 6H2{g} +493.5K]
using the above reactions, find the

approximate A H" for the following reaction in kJ

B,Hy,) + 6Cly ) —2BCly, + 6HCI

BB &{EFaHS SSgu K5DoBed. ,\?)
! 1 ) Q

A
'BCIB(#} +3H,05——H;BOyq, +Sé§__{} +112.5kJ
.BEH6EW}+6HEO{ y—>2H, BO Hy ) +493.5K]
D BEgud GHBrAoD, Q/

§ob $ogs A ' mm@é@dfﬂe_‘i”

BEHﬁ{m,,} +6Cl, ., —2BCl, ) +6HCl

Options:

—339
1.

92.5
2

137.6
3.

—1489



Question Number : 132 Question Id : 7512365732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the following reaction,
CHyg) +C05(q) = 2C0(g) +2Hyq)

if the degree of reaction of CH, and CO, are 20% at equilibrium. what will be the equilibrium
constant? The initial concentration of CH,. CO,. CO and H, are 4.0 moles each.

Bob H8geS”

Q0TR® 5 CH,. CO, o $&g Bwg), @58 20% wond, ddoergd Jorodo Jog? CH,,

CO,. CO. H,&rdoes miden 68 e§& 4.0 3rden

Options:

O)
74 N
>

Question Number : 133 Question Id : 7512365733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If an aqueous solution is 5 times alkaline than pure water, the pH of the solution is
approximately (log 5=10.7)

HE B 0B w8 woE o 5SBL 57 derdo R GHows, & @dwo pH dodedom
(log 5=0.7)

Options:

. B
1.

8.7



[

6.9

Question Number : 134 Question Id : 7512365734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What are the values of NA and ND in the following statement?

“In the crystal structure of ice, each oxygen atom accepts NA hydrogen atoms from the
hydrogen bonded network and donates ND hydrogen atoms to the network™

808 J58e" NA $8csn ND Jensen 320¢5?

B0t $HBE IS, B8 el H8drmd NA TEad S8drmdod TE e
20T o8 Hod Erod) Ho8a5n ND @'z e H8irnie i o5 bo Bdgod .
The correct answer 1S (\/Q
D8 WO DIAFT IS0

Options:

NA=ND=1 C)Q/}
X
_ NA=ND=2 ((,Y~

NA=1 , ND=2

NA=2 , ND=1

Question Number : 135 Question Id : 7512365735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct statements from the following.

i)  The hydration enthalpy of Li". K™ and Cs™ follows the order Cs™ > K >Li"
i1) Be(OH), reacts with NaOH and forms [Be (OH) 4]2‘

1i1) Aqueous solution of washing soda 1s basic.

8ol T3S D6 wond Do obotod.

i) Li, K So00i0 Cs™ ¢f8m Jomdy eddood Elmn Cs" > K" > Li"
ii) Be(OH),. NaOH & $635°08 [Be (OH),]” % D8yid308

111) 2O FT 2OE S0t §Y éage;'*a’m G otnod
Options:

111

1, 1. 1il Q/? '
Question Number : 136 Question Id : 7512@6 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many B — OH bonds are present in borax?

S QE{‘Q B - OH 20T e0Ta0?

Options:

4



Question Number : 137 Question Id : 7512365737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the thermodynamically most stable allotrope of carbon and what is the hybridisation
state of C in 1t?

SRIBETH0 @560 ©fE REdroro SHS Eraroddhn J6? 000w IS A CHosbssn
B AE?

Options:

Diamond : sp’

85008 ; Sp°

Graphite ; sp”

I aé : sp* é
2.
@,
Cgp: 5P @

s’ 9
i S 5P &
Question Number : 138 Question Id : 7512365738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The chemical compound that was earlier used in dry cleaning process 1s

Qo HEES” DFo W PBEIHS Frto GIRTHoND ol I[0FS0

Options:

tetrachloromethane
BErsstands



tetrachloroethylene

SErsdaeod
2.

perchloroethane
28T EHBS

ethylchloride
23SETL

Question Number : 139 Question Id : 7512365739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find out the correct order of boiling points for the fo,@ng compounds

Q

Bod W To rNISS o BORS BHE ESFSos
a) CH,CH,CH,CH,OH &J
b) CH,CH,CH,CHO ?.

¢) CH,CH,CH,COOH &%Q/

Options:

a>c>b
=

c>b>a

c>a>b
4
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Which of the following reaction conditions are employed to benzene in the preparation of
Gamimaxane?

o2 180d TES® ) WorghdPedy GHArhod KSr§)SH SoirdBaRSwK0?

Options:

6Cl,. Anhyd. AlCl,. dark and cold
6CL. dge AICL, DES Ho80%0 e

CL,. Anhyd. AICL,
CL,. dge AlCI,

| 3CL.UV.500K Q‘\cfb
| V

3H;; Ni. heat

A
3H,, Ni. 3& QQ/
@

Question Number : 141 Question Id : 7512365741 %(on Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Ori ertical

The product Q of the fc}llmféﬁ reactions 1s

Bod Soge eEHEw Q6?

2CHI, —} P

i H-C=N .
2P red—hotiron tube & Q
(G s~0& ﬂéﬁ.}ﬁﬁ"éﬂ{.‘-}

Options:



m—z:j @ @

V)

o)
4_ N
A

Question Number : 142 Question Id : 7512365742 Question Type.. Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical<( ,

What 1s the coordination number of an am@a cubic closed pack structure with maximum

packing efficiency? Q/?“

SLIdALS éuﬂ“donj Fodgo e ;@Eﬂlﬁ"é éuucﬁ:g Ao HNS” Gy D8S70 ﬁa’}oc‘ﬁ‘soﬁj
& : & -

Qopg Jog?

Options:

6

1.

12

10



Question Number : 143 Question Id : 7512365743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The vapour pressure of an aqueous solution of fructose is 646 mum of Hg at 100 °C. What
is the mole fraction of water in this solution?

100 °C 5§ @& moErdadn erdwdso 646 mm Hg ¢do. o @deod® A8 Ird

B0 Does?

Options:

0.17
0.83

O
0.15 N
3 q/Q
0.85

4 &
&

Question Number : 144 Question |d : 7512365744 Queﬂio@e: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : ti

Assuming complete ionization. wh&tds/the osmotic pressure of a solution of citric acid of
0.05 molal concentration at 20 “%ssmue that the density of the solventis 0.1 gmL ™" and
van’t Hoff factor for citric acfGs

I8 D@reddw dirodofy 20 °C 3 0.05 3rord mEs fo VI8 @Eﬁg (Ao
(ahAieTet= BX58» Dods? 5ed &rose 0.1 g mlL ™ S0805%0 |38 &E;’.‘Qo ToeSHD Mo
4 ) &rotofob.

Options:

1 480 atm
4.8 atm

3
0.048 atm



0.48 atm

Question Number : 145 Question Id : 7512365745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A solution of NiSO, is electrolyzed for 30 min with a current of 2.5 A. The mass of Niin g
deposited at the cathode is (atomic weight of Ni= 58.7)

2.5 A $otnd NiSO, sed) 30 doTen dghdaem Ik, £FE 5§ J8IFoS

"
L

N1 (55078 g ¢5® (N1 d8Sre erdo = 58.7)

Options:

0.171

: O
N 0.342 N
>

0.685

1.369 @
4,

Question Number : 146 Question Id : 7512365746 (%(on Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Ori ertical

For a reaction P - Q + R, dﬂq given temperature. when the concentration of “P” 1s
increased by a factor of 10, the rate of the reaction increases by a factor of 100. What is
the order of the reaction?

S XS & P— Q+R€5ge" “Pmrddd 1038 Woddonsd wdgotn 1003w
20h0d. JTg (Baroan Jod?

Options:

2
1.

1D | =



Question Number : 147 Question Id : 7512365747 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The following is/are not characteristic(s) of enzyme catalysis.

A Lockand key mechanism

Enzyme urease catalyses the hydrolysis of urea and other amides.
In general active between pH=5-7
Uninhibited by inhibitors and Poisons
High specificity

mon W

O
Bod T8 JoB ﬁt@jdeao edorge o & @\,
A %05 o8y erdo BD BorgATHK0 &
HBorBSr $r8050 WS ePoke wold FrBSHE JoBSH wB)Te Db
Frordeoorm pH = 5-7 Doy 85308 trotnob
BB 598050 mmmg%%mmmm

m o 0 W

LA g)lﬁE’J‘@é}é o0 %

Options: &

, C.D

B.C

> PL"C

B.D

Question Number : 148 Question Id : 7512365748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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. Which of the following enhances the non-wetability of the minerals in sulphide ore during
froth-floatation process?

DID (BEORDHEES é?ﬂ)& S0 PATOS ' P SESR0T Godirds 18od F8S°
2B DoHH?
Options:
Water pH., maintained by sodium carbonate
&R0 5THI8 A8 pH Q H0880308

Cresol. a froth stabilizer
éiﬁﬁ ?m;rfﬁécieﬁﬁ e

Sodmm ethyl xanthate (frothing agent) Q'\’

e wowd, wi (TS
4, Q/
Question Number : 149 Question Id : 7512365%49 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Pine oil. a collector @Cj
v

Amongst the hybrides of group 15 elements, the strongest reducing agent is

15 e Sreste ?@5@&‘3‘ wod Fohbidn sEEdn

Options:

AsH,

1.



BiH
Question Number : 150 Question Id : 7512365750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify A and B respectively in the following reaction

st —>B) + By

Bod WEgeS” AL B odo 3803 fgowod
HC104(L5} + ons{éo} 4}}51{@] -I—B{Ea:}
Options:

CLO, : HPO,
1.

CL, : H,PO,

€105 :H,PO,
=3

CLO, : HPO,

Question Number : 151 Question Id : 7512365751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Identify the correct statements from the following.
1)  Potassium manganate is diamagnetic and potassiuim perimanganate is paramagnetic.

11) Both MnO; and ]_\,@02‘ have tetrahedral structure.

ii1) Permanganate oxidizes Szog‘ to sulphate in basic medium.

1v)  Thereaction between acidified KMnO, and I" solution gives MnO,. water and I,

Bod TES® D0 wond Jdden Hiowob.
1) Fracho $rofIl Eoir eohdoddo Sod B0 Frirlcho $omoRSE
é?oﬁ&ﬂ%uééﬁgo sof.

i) Mno— So805 Muoﬁ— Bo&B8 B S Jovywo So.

1i1) 58 oSrdgods’ @G‘“&uﬁ?ﬁﬁ S 02 & :\:6'0)5?? 3858 % D08,

iv)  esdugyd KMnO, So060sn I @rdmo Sy w563 ]\@y & %8050 L, c00i3g08.

Options: &
i i, i &
1. < )

i, iii @
T ,@

1. 111

Question Number : 152 Question Id : 7512365752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The formula for the compound sodium monochloro pentacyano-ferrate (I11) 1s

FEoo IrTEE DotrpS-wEE (1) d30)¥do aréner

Options:

[Na,FeCI(CN), |



Na,[FeCl(CN),]

2
Na,[FeCl(CN),]
)
Na,Cl[Fe(CN),]

Question Number : 153 Question Id : 7512365753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following monomers can not be used for the cationic polymerisation?

808 IrSHdS’ TLUFIE FOEECINSE GIBTHQLIE I&?

Options: N
Vinyl ester ‘19

DR b @
1. e &

Isobutylene @
oR0gEIO J

Vinyl ether
. 936 &¢8
Styrene
28R
£
4
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Match the following amino acids and their one letter codes.

§od AT slrodn D0 T8 il dosTrod adddKod.

List-1/zdea -1 List-II / erdae- 11
A)  Tryptophan D T

B
B) Tyrosine Inm$y w

&S

C) Lysine 1) I"Q\’

5035

D) Threonine (% X
ERrIS @

The correct answer i1s %@
HOG0S DEPGTHB A

Options:
A B C D
O O d av)

A B C D
I @v) n @

A B < D
. @M @O @) a



A B C D
(D @) ()

Question Number : 155 Question Id : 7512365755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements are correct?

1)  Shape of the receptor changes after attachment of chemical messenger.

ii) Receptor regains its shape after the removal of chemical messenger.

ii1) Chemical messenger gives message to the cell by entering the cell.

iv) Binding of drug at allosteric site of enzyme does not change the shape of the active site.

808 DSOS’ HOFHID A?

1) Sohd JdrTd TrEo odF)S) SdTd Fﬁé@asﬂéo Srddood.

1) Jrohd ddrard Jmiro SHIIYS SHad @ 80h &9 wrorR) Toddod.
i) SFchd JdraTd o £5%05%8 3%" Q8 ddrTrord) ®obdyob.

V) QoB0 BwE), RS FSoS' Hokh %’éé’nééo Srerd (§oirde o evdo

S5, O
Options: @

. 1. 1v Q/v
K2

, L1 1v
1. 11, 111

3,

4 1,11
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Which one of the following is correct for the substitution reaction shown below.

0B WrHodd HEEHn $Egk §od TEST D0 wodd A6?

5, _ CH, CH,
){1""‘" Ph = %H ' 5 it Ph + Ph ””““A
& eq HO  CH. Cu, ™

Options:
Follows second order kinetics
S0y o8 M8 TEnd) rdaob g
) S

Proceeds through two-step reaction 1uer:1131K111
S0t wode UoTg S0 CT’QES eaﬁjﬁaéor@

. @c,

Rate depends upon the coucen& of {%H

2
3¢ OH mgsp eacm:i@
>,

Rate depends upon the concentration of both reactants

Ot Sodn Boirasse mESD errddtod
4
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What is the major product of the following reaction?

Bod WEges® PHErd wéKto I86?

CHr;Clg

PDC = Pyridinium dichromate (£6&00%5 Z§30)

Options:

A
OH QQ/
Q
OH ({/?‘

COo,H

CHO



COH

Question Number : 158 Question Id : 7512365758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the product formed on reaction of acetone with n-propylmagnesium bromide
followed by hydrolysis?

DtSte 11—@“7':_35 Euﬁnliloﬁoﬂ: @5’“?}‘9&@‘ Wy 0h édﬁa;‘@z&mﬁ'ﬁ&e&: 28 Ddojcéa
ﬁ';@’géf}jp 6 ? Q'\,

Options:

e >
L OH Q/v
%,
b~ 0
/\g{\/
R d

Question Number : 159 Question Id : 7512365759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The product “G™ in the following reaction is.
Bod WS A GSyHdn “G”
(1) Red P Cl,

CH,CO,H b
@/ — L- 3 TTGH‘
(1) H,O

Options:

|~

Cl

Cl
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Which of the following reactions produce amines?
Bod TES® IWIws INT SBgew AD?
a) CH,CH,CONH, =2

Br; KOH|excess)

b) CH,CH,CONH, S
¢) CH,CHCOOH—2%h |

|

NH,

d €H;C0CH; 25y

Q

) (a), (b), (c)
Q/?‘
(D). (©). (d)
2_ &

(a). (). (d)

2

(a). (b). (d)

4



